
11 "á", ÂÉÏÌÏÇÉ, ÁÌÇÅÂÒÁ, 6 ÏËÔÑÂÒÑ, ÚÁÄÁÞÉ ÎÁ ÕÒÏË. òÅÛÉÔÅ ÕÒÁ×ÎÅÎÉÑ, ÎÅÒÁ×ÅÎÓÔ×Á, ÓÉÓÔÅÍÙ:

1) 3 · 52x−1 − 2 · 5x−1 = 0; 2.
2) lg(x+ 5) > −2 lg 1

3−x .
3) 3|x−2| = 92x−1.
4) log2(3x+2)

log3(2x+3) 6 0.
5) log14−x(4x−√14− x) = 0; 5.
6) log2

3x−2
x−1 + 3 log8

(x−1)3

3x−2 < 1.

7)
{

3x · 2y = 1152
log√5(y − x) = 2:

8) log2
√

2−√3(x2 − 4x+ 14− 4
√

6) < 2.
9)

( 3
4
)logx 15 = x

20 .

10)
{

lg2 x = lg2 y + lg2 xy
lg2(x− y) + lg x lg y = 0:

11) (4x2 − 16x+ 7) log2(x− 3) > 0.
12) 5 · 9x − 18 · 15x + 9 · 25x > 0.

11 "á", ÂÉÏÌÏÇÉ, ÁÌÇÅÂÒÁ, 6 ÏËÔÑÂÒÑ, ÄÏÍÁÛÎÅÅ ÚÁÄÁÎÉÅ. òÅÛÉÔÅ ÕÒÁ×ÎÅÎÉÑ, ÎÅÒÁ×ÅÎÓÔ×Á, ÓÉÓÔÅÍÙ:

1) log5(x− 3) + 1
2 log5 3 < 1

2 log5(2x2 − 6x+ 7).
2) (3x− 2)3x2−10x+3 = 1.
3)

{
lg2 x = lg2 y + lg2 xy
lg2(x− y) + lg x lg y = 0:

4) (4x2 − 16x+ 7) log2(x− 3) > 0.


